1.2 Tutorial 1: Solving Problems

> expr = 1nt(x*2 * sin(x), X);

expr := %xz sin(x) dx

> answer : = val ue(expr);

answer ;= —x° cos(x) + 2 cos(X) +2 x sin(x)

> subs( x=Pi/3, answer );
1, @O N 2 [
_5" COS TIH+ 2 COSHL Tt +§nsm2—ﬂ

> sinmplify(9%;
1 , 1
-—— T +1+—-114/3
18 3

> subs(x=Pi /3, answer) -
subs(x=Pi / 4, answer) ;
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> S rrplify(%'

1

1—8n +1+ Tt +—n«/7 «/7——”«/7
> expr = Int(x"2 * sin(x-a), X);

expr = ?xz sin(x - a) dx

> answer : = val ue(expr);

answer := —(x —a)” cos(x — a) + 2 cos(x — a)
+2(Xx—a)sin(x—a)
+2a(sn(x—a)—-(x—a)cos(x—a))
—a’cos(x — a)
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-Pi .. Pi,

X =

0..1);

> pl ot 3d(answer,
a
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